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gy (1) -3, -2, -1, +1, +2, +3 (2) 3 3 9 4 -9 () 19
6) —6 7 14 8 4dz+6 (9 1llz+12 (10) 197{&
1 -3, -2, -1, +1, +2, +3
2) 234(—-19)—13—(—12)=23—-19—-13+12=3
@) 7—-13+15=7+15—-13
=22—-13
=9
4) (—36)+=(+4)=—(36+4)=-9
6) —8—(—3)xX9=—-8—(—-27)=—-8+27=19
6) —62+4—(—3)=—36+4+3=—9+3=—6
(7) 2a+8=2x3+8=6+8=14
8 (Tx+2)—Bx—4)=Tx+2—-3z+4=Tx—3z+2+4=4x+6
9) 5(zx+3)+3(2z —1)=5z+15+6x —3 =5z + 6z +15—3 =11z +12
(10) 200 fE & DB INDEEHE
(—18)+(+12)+(+4)+(—12)+(—6)+(+2)=—18
&-T, 6 HEDFEY EIFEHKOEFHE
200 X 6+ (—18)=1182 ({@)

LdioT, 1 HDFEY EIFEROFSEIE
1182+ 6 =197 (&)



